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2 117,312
= 52,790
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SN A=
Mo p Kis
SRl AtE 22| (¢t &
SA BB .S (BH) - MBEAY - B2 Of) & 04 dE = SmE=L
0fl &t 01
O ¢®=2&35 &= 3,700
2 1,480
== 666
Al 1,554
206 M & Hl 315 315 0
2 126
°c 57
Al 132
01 M=Hl 315 315 0
O ¢®2XGGE A 2 315
2 126
o= 57
Al 132
401 AIEHIZL 20| 26,741 160,000 A 133,259
= 5,007
c 9,293
Al 12,351
01 Al&H| 26,741 160,000 A 133,259
O ME2YX 0lFZB82 =24 12,741
= 5,007
c 2,293
Al 5,351
O Ro1gtsE7|0] 14,000
& 7,000
Al 7,000
405 XHAHF S 79,000 22,500 56,500
= 29,200
& 16, 140
Al 33,660
01 At =S EF SHI 79,000 22,500 56,500
O MHOIXSHEY| (L&) 4,000
2 1,600
& 720
Al 1,680
O JIHSHRSAIAE (AE) 10,500
= 4,200
& 1,890
Al 4,410
O JIHSHRSIAIAE(ZE) 8,500
= 3,400
& 1,530
Al 3,570
O dHEXIE XHCHXFHIXE) 50,000,000 = 1CH 50,000
= 20,000
= 9,000
Al 21,000
O ¢d=20e Z22EX 6,000
& 3,000
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[ Al 3,000

AP X O (XHAN) 22,062 39,720 A17,658

101 el A4l 2,062 2,062 0

04 JIZtHZ2HSE= 2,062 2,062 0
O ¢tt=gd FHAX el MA 2,062

201

e
o
H0
02
=

18,500 28,768 10,268
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>
10
i
i
=

1,500 15,800 214,300
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17,000 12,968 4,032
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=
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002 *8LH*10 £ x100 12,000

202 Oddl 1,500 1,500 0

01 =LHOYI 1,500 1,500 0
O =Uodbl 1,500

AE HolEs Al 675,885 889, 160 N213,275
391,748

77,755
206,382

= HnH

101 1A H] 172,869 140,893 31,976
78,750
23,151
70,968

= H W

04 JIZHZ2HSE= 172,869 140,893 31,976
O GIZEH 74,726
37,363

11,208
26,155
O XN=4d A 40,704
21,055
5,895
13,754
O Z0H0I ZR(LEHAH, NYEH S) 1,748
914
250
584
FA 2,957
1,524
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1,003
35,788
17,894
5,368
12,526

16,946

= HnH = H W

= N W
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S MEEXD
HI: A2 XRE
CHel: At 2HE (St & )
_ _ _ P NE e
SH-EFHHA(FA) - NIRAE - BES Off AFH O?Eiﬁ Hluns2
201 Let29y| 5,466 0 5,466
=2 2,733
[ 819
Al 1,914
01 AL22ell 5,466 0 5,466
O Zojo(22o 2E8) ¢ 1,242
=2 621
< 186
Al 435
O EYNS 227 3,574
= 1,787
[ 536
Al 1,251
O LM (AH=D, &5, LH=s, 2K
g 8) 650
=2 325
[ 97
Al 228
202 04 H 3,500 0 3,500
=2 1,750
[ 525
Al 1,225
01 2o 3,500 0 3,500
O Halil= MaHEZAF 2 o= 3,500
=2 1,750
[ 525
Al 1,225
206 24| 55,800 8,000 47,800
=2 25,644
< 6,647
Al 23,509
01 XHEZHI 55,800 8,000 47,800
Oz ¥ & Yols &M LHul(O2X
CIZEA ) DAR, dEH S) 8,000
O golls LdHrL(sa2ue 5) 15,000
=2 7,760
< 2,172
Al 5,068
O golls ANMPL(IIE HiH) 10,000
= 5,000
[ 1,500
Al 3,500
O £Z&E 2Xdel LHSFAF 2T 22,800
=2 12,884
< 2,975
Al 6,941
401 Al&HI L2 438,250 718,047 N279,797
=2 282,871
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SN CR(EH) - NRAY - BES ]
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=2
Rl
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==
S
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0

46,613
108,766

=

01 Al£Hl 435,097 713,524 N278,427
SZE AN SSH 119,666
112,696
2,091
4,879
160,087
90,467
20,886
48,734
XH ol & 2 155,344
77,672
23,301
54,371
03 Al R04Hl 3,153 4,523 21,370
O sZEAXNLel LIRFA 1,160
656
151
353
O &3 axdd e3H 867
817
15
35
O sZZE2AXLel Mol 1,126
563
169
394

= H W

O
e
I
A
=
bl
ng
&
c

0
IH
=

= HnH

O
U
I8
[l
13
>
E
&

= H W

= H W

= HnH

= HN W

LA 110,059 112,430 N2,371

77,041
33,018

o

> 0

101 1A 7,800 0 7,800

5,460
2,340

o

= 0

04 JIZHMIZ2XNSE = 7,800 0 7,800
ey 7,800

5,460
2,340

o

= 0

401 AIEHIZL 20 102,259 112,430 210,171

71,581
30,678

-~

> 0

01 Al&H] 101,369 111,580 A 10,211

O AT AEINZ(1km) 65.679
45,971
19,708
O 2l & 22 (8km) 35,690
24,980
10,710

d

= 0

o

= 0
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S MESTD
Ha: AR XS
chel: A e (B9 &2
- = _ N e
SA-EHB . CA(ENH) - HEAY - BE2 Off &k o4 il i~ o HRs2
03 Al&=HHl 890 850 40
O 2T At 890
=l 630
Al 260
Saz Y ¥ 22 199,999 532,606 332,607
=2 47,736
= 23,868
Al 128,395
101 o121l 30,879 20,016 10,863
04 JIAH2RRSES 30,879 20,016 10,863
O S&z 2I(ME, S M), 2AHe
s) 11,616
O ZUMLXE A2 2]
35,0002 %212 22 * 122 17,640
O &N 2 DNERHER 17,640,002 9. 2% 1,623
201 Y2yl 9,000 19,680 10,680
01 ALR 22/t 7,000 13,000 26,000
O Stz e Y2yl 7,000
- ST RN FURE PY(EX, HIE
s) 4,000
- EAMH 50t 2 2PN URH2 S| 3,000
02 =2l 2,000 6,680 ~4,680
O Saz@el ZZ29H| 2,000
202 01| 1,000 1,000 0
01 2L oIHl 1,000 1,000 0
O dEZYR =T S 1,000
401 AISHIL L] 159, 120 491,910 ~332,790
= 47,736
= 23,868
Al 87,516
01 Al 157,980 489,718 ~331,738
O s&2 Hb](5kn) 157,980
=2 47,39
= 23,698
Al 86,886
03 Al&=HHl 1,140 2,192 A1,052
O Sz Fy| 1,140
=2 340
= 170
Al 630
MEIABIAZ0F Q12| 34,824 77,641 A42,817
=2 34,824
301 LLEAS 34,824 77,641 A42,817
=2 34,824
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SN AESTID
Zy: M2 RS

Shel: Arg e (oA
_ _ SIEN
A -3 -H2A(SH) - HEAMY - BES O AF K 'oﬂ/'\_WH Hlws2
09 BoURLRABAZ 34,824 77,641 ~42,817
O M MHIAZO0F 212 34,824
= 34,824
AZET AlHl 23 76,850 0 76,850
308 XiXIEHHSOIH 76,850 0 76,850
05 KXISHHRS 3 76,850 0 76,850
O MZ2FEE 8] Yxt AlH2e2 76,850
=xzel 578,518 380,961 197,557
= 93,359
= 24,672
Al 460,487
BTN =4 282,919 324,671 41,752
101 QI2144| 88,219 85,758 2,461
04 JIAM2RISES S 88,219 85,758 2,461
O BIMAX HE UM 35,0002 12303 1,050
O MEZA 51,3502 %447 101 /4m 5,739
O steh, ZFN S 2e
35,0002 *48,572m %0821 /130 %23 20,924
O &9IS)| & ZNME 35,0008 52«39 6,825
O 2R ZE O[AIZY 35000842110 15,400
O QEX Z2HY
51,3502 (11,500 /5,000 )*38] 355
O BRAN o8y
35,0002 x264, 328+ 12 /3502 26,433
O XAt 2@ 35,0002125,0002 %191 /5002 1,750
O %4RE TX = &I 2,310
O &N 2 NE2EE 7,433
201 ety 16,800 18,106 A 1,306
01 AtR 22l 3,000 3,000 0
O Tal=s ALET 29| 3,000
02 ZZ2gl 13,800 15,106 A 1,306
O Ta=3xg 254 S
200,000 *2CH * 122 4,800
O ANZLRE 2 2T el BZ29| 7,000
O Sa=sEY 24aHI(6FI] S) 2,000
202 01| 1,000 1,000 0
01 2UHoit 1,000 1,000 0
O BEZA X8 H25X 1,000
206 T2l 53,000 107,000 54,000
01 Ml 53,000 107,000 54,000
O X387 M L ANEY HER 50,000
O Xtast sttt BAE 2 ¢ 3,000
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AbE =Xt
&2 X2 s
=Xz (9 E2
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
401 A &HIL 2048 123,900 112,807 11,093
01 Al&H] 123,000 112,000 1,000
O =Xx=&EX Ald=2 20,000
O Iz=2SssE 80,000
O olal== & 8,000
O LBH#-A(S 15,000
03 Al&Z=THYl 900 807 9
O Z2ZAIZHEAL 900
AMES ALY 55,599 56,290 691
= 33,359
& 6,672
Al 15,568
101 1 ZH| 55,599 56,290 A 691
= 33,359
= 6,672
Al 15,568
04 JIZPMZ22 XS 55,599 56,290 A 691
O sZd X Arel2l 9 13,900
= 8,340
= 1,668
Al 3,892
O ZAI=XI2el 13,900
= 8,340
& 1,668
Al 3,892
O gusx RCYIoIH 29 27,799
= 16,679
& 3,336
Al 7,784
MEE Ewe) 120,000 0 120,000
= 60,000
& 18,000
Al 42,000
401 A &HIYL 2048 120,000 0 120,000
= 60,000
& 18,000
Al 42,000
01 Al&H| 119,136 0 119,136
O stz x4 119,136
2 59,568
= 17,870
Al 41,698
03 AIE=20bl 864 0 864
O stz &4 864
= 432
& 130
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A= 1t
NEIGCE
=Xxzel (ctelae
. _ = A C
SN -3 S2ARAH) - MFAY - BES &koH Ol & o8 Hlus2
| Al 302
AEH A2 2RV =4 120,000 0 120,000
401 Al EHIZL 2O 120,000 0 120,000
01 Al&H] 120,000 0 120,000
O def A2 ¢Rd 120,000
MEAIEY .520,613 1,455,884 64,729
= 500,000
=2 2,160
[ 101,680
Al 916,773
TAE L I2H =4 ,008,000 884,000 124,000
o 500,000
= 2,160
< 1,680
Al 504, 160
401 Al EHIL SO ,008,000 884,000 124,000
= 500,000
= 2,160
< 1,680
Al 504, 160
01 AlZH] .001,430 878,212 123,218
O TAlE =&Y 894,330
= 447,165
Al 447,165
O 2+ =4 99,100
=) 49,550
Al 49,550
O 25422 8,000
= 2,160
< 1,680
Al 4,160
03 Al& ST 6,570 5,788 782
O STAlE ZEAY 5,670
=) 2,835
Al 2,835
Oz =4 900
=) 450
Al 450
TAE L 2 2L (RAH) 412,613 471,884 59,271
101 21244 90,613 93,758 N3,145
04 JIZRIZE2ER 2 90,613 93,758 3,145
O UetZ 23stael o=y 4,200
O Jt24 =X L HOLMA
50,0002 *4,310&1/3%0.07¢! 5,029
O Jt24 AHl & SE)| 23+ XY
2,0002 *2,5005 5,000

_61_




SA: ARSI
Ha: M XS
Sl =M AT (e @
_ _ pSNE e
SAN-ZH-SA(FA) - NFAY - BES Off &F oK oﬁfﬁﬁ Hws2
SEEEEEEEE
50,0002 7,000 +0.032¢! 11,200
O MEH JSH 65, 184
201 Yer2 Y| 4,000 4,000 0
01 AtR2elt| 4,000 4,000 0
O TA% Z4e =X 4,000
206 T2 12,000 0 12,000
01 T2l 2,000 0 12,000
O Jt2+ BHIE NFS 2Y 4,000
O AHIIGH SN MER, SHALIK 2L 8,000
401 AEHI LS 306,000 353,400 A47,400
01 Al&| 305,000 352,000 47,000
O Jt24 Hl 70,000
O &SNl D24 HUI(HISE, 2IHAE) 40,000
O 32z¥ £ ®0O el 15,000
O A, SXNLX, =XNZSX A2 70,000
O MQIEX 2E=X Ul M= 110,000
03 Al& S CHY| 1,000 1,400 A400
O 24 L =x2e 1,000
=M TSR ALY 100,000 100,000 0
= 100,000
401 AlAHIL 20| 100,000 100,000 0
= 100,000
01 Al&t] 99, 100 9,590 2,510
O =AY IR * 99, 100
= 99, 100
03 Al& S OHY| 900 800 100
O #=AZ AR = 900
= 900
el 173,694 150,284 23,410
= 62,549
= 17,710
Al 93,435
NEE 1,811 12,182 AT
101 Q1248 2,311 2,682 AT
04 JIAH2E2HSE LS 2,311 2,682 AST1
OASY ALXe AX £2 2 2 Hel
ol 51,3502 %991 *5ha 2,311
201 Yer2 gyl 2,500 2,500 0
03 A2 | 2,500 2,500 0
OMSY A+TY S 1,000
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A AE =X
I g XA
chel: Tz (SH:®2)
- _ _ HNE
SH-EFHHA(FA) - NIRAE - BES 01l A+oH 'oﬂ/'\_FOH Hws2
oggol stotsthsl (& &<l) 1,500
206 M= Hl 7,000 7,000 0
01 M=l 7,000 7,000 0
OAl=g AlxXY BE72Y 7,000
L2SSUHZE 16,096 5,201 10,895
& 2,534
Al 13,562
206 M=l 16,096 5,201 10,895
& 2,534
Al 13,562
01 =z 4l 16,096 5,201 10,895
O AS3U =8 16,096
= 2,534
Al 13,562
EN 145,787 132,901 12,886
= 62,549
= 15,176
Al 68,062
401 AIEHIZ R 145,787 132,901 12,886
= 62,549
& 15,176
Al 68,062
01 Al&HI 144,744 131,705 13,039
O gAY 114,744
= 61,986
& 15,039
Al 37,719
O S&4+3AX HE T 30,000
03 Al =20HY| 1,043 1,196 A 153
O ZEAY 1,043
= 563
& 137
Al 343
S ze 1,025,400 3,416,223 A2,390,823
SATE & A2 724,900 1,285,723 A560,823
101 eI24H| 227,400 250,700 A 23,300
04 JIZtHZ22XNsSEs 227,400 250,700 223,300
O SAXNHSE(EESY 2 3MA)=X 2
35,0003 x26 24 x5H «12& 54,600
O S (ALHX 2 284 )22
35,000 *26 L 6 H « 12 65,520
O Oelol 3 (87HA) X2 el
35,0003 x26 Y x4 H « 122 43,680
O SANHSJ(EESE 2 3MA)H=
49,000M *120& /1M %4 3| 23,520
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A M=
o sE KRS
e S (&2 &2
_ _ _ HEC
SM-BH-H2A(FAH) - MIRAY - BES Ol & ‘Oﬂ/l\_FO” Hns2
O 2B (At Q) 28HA)HI=
97,000m %1202 /1M x23] 23,280
O Helols&((87Ma) M=
70,000 120 /1 m %23 16,800
201 dEt24| 146,500 154,523 A8,023
01 AtR22ldl 13,500 10,000 3,500
O 23 X2 28 (229, TAIXHH4,
elols&87) 13,500
02 =323l 133,000 144,523 N 11,523
O 33U &ot+== 23(60IM2) 60,000
O ZaXNY AU (SR, 4,282
s) 8,000
O ZLU ®IIL2(85HA) 60,000
O 38 Hxg g ¢ 5,000
206 M= Hl 20,000 15,000 5,000
01 TH= 4l 20,000 15,000 5,000
O sz Mg 7 20,000
401 AIEHIZ 21| 331,000 845,000 A514,000
01 Al&HI 330,000 844,000 A514,000
O 272 UIAAY L AId=2 & 40,000
O 88322 AEE KX 2el(&M XA
sS&tz B4 §) 50,000
O 2833 =2 L AFH AHd](9.8km) 20,000
O JI2E KA L AME(SIIAHSE) =21
700, AL, =SSR 2= 40,000
O Zssd sitgd =53 2 X538 AN 30,000
O 22 (2222 2 29)1A) D2 &
o FMY| 90,000
O Helol8d =0IAEuAd & MSAIESEX
(Z=,U21.2.38, 22 01,5 ,X=2) 60,000
03 Al =20HYI 1,000 1,000 0
O & &4 ¥ A 1,000
SAMNREX W 300,500 1,030,500 A730,000
401 AIEHIZL 20Hd] 300,500 1,030,500 A730,000
01 Al&HI 300,000 1,030,000 A730,000
O SEANSEX N 300,000
03 A& 20HYI 500 500 0
O SEANFEX 500
Atghze] 46,527 71,772 N25,245
AEFAIS AlHI BE 2 46,527 71,772 N25,245
308 AXIHMSOIN 46,527 71,772 N25,245
05 MXEHLEES 46,527 71,772 N25,245
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SA: ME=XD
Ha: AR XS
ol ARt (B9 &2

M-S (3) - HRAY - BES Aro e =2

O AHZALE AlHI RE3 46,527

HY 2L ZH (LS =XD) 147,200 211,960 264,760

A2 (MR =X 86,000 150,700 264,700

A2 (M =X 86,000 150,700 264,700

101 Q14| 86,000 93,580 AT,580

01 2=+ 86,000 93,580 AT7,580
O AZtel 2R 7,4573 %198 #45A| 2t+12E 76,509
O A2 4| 47,451,500 x1/30+6 9,491

Al (A =X 61,200 61,260 A60

|2l (A& =X 61,200 61,260 A60

01 LEH23H] 24,000 27,460 23,460

01 AFR22lH| 24,000 27,460 23,460
O sX2elgdR=d 29| 24,000

202 O4H| 33,000 33,600 A 600

01 =Wl 33,000 33,600 A 600
O sX&e =Wodl 33,000

203 HRF&Hl 4,200 0 4,200

04 BEASSEHFRFEHI 4,200 0 4,200
O BMSZYRFAI 350,000& 123 4,200
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M sMERSH
M spptsrs2ad
&t setErs2el CEREED
_ _ HdE T =
SMN-HHM .. AHA(SH) - MRAY - BES e '@E% Hlw &2
SRS 16,930,458 17,050,050 A 119,592
= 8,304,447
& 800,000
& 101,500
Al 7,724,511
SRSl 16,806,957 16,886,318 AT9,361
= 8,304,447
& 800,000
& 101,500
Al 7,601,010
SR 7,510,260 5,993,410 1,516,850
= 500,000
& 53,500
Al 6,956,760
S B 2 = 2,755,400 1,539,800 1,215,600
= 350,000
Al 2,405,400
201 Let23d| 54,000 70,000 216,000
01 AtE222|Hl 54,000 70,000 A 16,000
O Xt & 50,000
O sS¢E
= 4,000
202 O4H| 15,600 16,400 A 800
01 2o 15,600 16,400 2800
O stERs 15,600
204 HPHAH| 7,800 0 7,800
03 EHHREHI 7,800 0 7,800
O gasy 50,0002 13H «12& 7,800
307 212t01& 117,000 153,400 A 36,400
02 QIZtAAMEX 117,000 153,400 A 36,400
O aaEage] ZaN XA 7,000
O EMEAHIY =2 X 30,000
O azZHage 228 4AXF¥ A 10,000
O 2ol st S XA 70,000
401 AlEHIZL S 1,361,000 1,300,000 61,000
01 Al&H| 1,360,000 1,298,000 62,000
O sS&=E 8 1,360,000
03 AIE=20bl 1,000 2,000 A 1,000
O sStt2 sE8H2 2XHY 1,000
402 Q12tXHE01 A 1,200,000 0 1,200,000
& 350,000
Al 850,000
01 SIAG2EX 1,200,000 0 1,200,000

_66_




M sMERSH
M spptsrs2ad
&t setErs2el (cte: =<
_ _ HdE T =
SM-ZFH - HA(SH) - MRAIY - BY e '@E% e
O sS¢tE 82284l M= 1,200,000
& 350,000
Al 850,000
SHASEXTH 4,420,000 4,425,000 25,000
402 2IZEX=0IA 4,420,000 4,425,000 25,000
01 SIAGEEX 4,420,000 4,425,000 A5,000
O MASHEHHN(UASEHZE L A4E) XA 4,400,000
O 2= s4gMmg XN 20,000
SASa Ol U0 EdHiH] K& A 124,860 28,610 96,250
& 53,500
Al 71,360
307 gI2told 124,860 28,610 96,250
= 53,500
Al 71,360
02 2ItAASE X 124,860 28,610 96,250
O M=% OIE{UEDN e4tidl XA 124,860
(= 53,500
Al 71,360
E+E0t ZEAMG 210,000 0 210,000
= 150,000
Al 60,000
402 2I2H X201 210,000 0 210,000
& 150,000
Al 60,000
01 QI GEEXR 210,000 0 210,000
O E4+Z0lZ2E M2M&FD XAAY 210,000
& 150,000
Al 60,000
zael 8,381,647 9,267,858 £886,211
= 8,304, 447
= 18,000
Al 59,200
LASBEHXNEZ 8,272,260 9,186,893 A914,633
= 8,272,260
301 LEtEAZ 8,272,260 9,186,893 A914,633
= 8,272,260
12 JIEt2 43 8,272,260 9,186,893 A914,633
O #As S BEAEA 8,272,260
= 8,272,260
SdHE2LS X AIZE U 74,000 36,000 38,000
& 18,000
Al 56,000
307 gI2told 74,000 36,000 38,000
& 18,000
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